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Among the following, which districts are the original place of Kuswadia caste?

(A) A% Taf¥m (Banke and Dardiya) (B) IS T el (Kavrepalanchok and Sindhuli)
(C) NFIAYT faam (Makwanpur and Chitwan) (D)%< TmaHqq (Banke and Makwanpur)
Py qeewe 1 Reem e St firend wdh s ote

Matching between the following boaks and their authors, choose the correct answer.

2) DFTFI (Yojangandha) i) %1 QU@ (Krishna Dharabasi)

b) 3AFT (Pretakalpa) ii) % & (Maya Thakuri)

¢) uig ARy (Sanghu Tarepachhi) iii) Tz wAR firare (Binod Prasad Dhital)

d) W& (Masan) iv) et ware RTeT (Gopal Prasad Rimal)
v) TGV SFIel (Narayan Dhakal)

(A) a-ii, b-v, c-iii, d-i  (B) a-v, b-iii, c-i, d-iv (C) a-iii, b-v, c-ii,d-iv (D) a-ii, b-v, c-iii, d-iv

Qg SACEAT, 2078 AT $EIT AR FFARAGEH SHHE FHl 87

Acconding to National Census, 2078, what is the population of the followers of Islam religion in Nepal?

(A) 6.21% (B) 5.72% (C) 5.09% (D) 4.85%
e e AR O e | '

Choose the odd onc out from the following.

(A) Sefraet (Judshital) (B) %321 (Deuda) (C) ™M1 (Gaura) (D) TRIGT (Lhosar)

e ad 2080/81 T it TXe TTHETR! ST AR FARIC CIA?
Which of the following is not the ohjective of the budget speech for the fiscal year 2080/817

(A) 3 v Fard sufen, Rl vemmeh anfifes 3R s |
(Stimulating the cconomy, achicve broad, sustainable and inclusive economic growth.)
(B) T[Tty Wi firenm, TS Yo o |
(To ensure quality social development, sccurity and justice)
(C) wmferra Jyifvfer wanféea Fvam 7 | (To maintain macrocconomic stability)
(D) farsfra Ticftaan waefiFRvr 7 | (To strengthen fiscal federalism)
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White amanging the major treliing routes of Nepal from west 10 curaand abit o om0y

followang ts corovt]

1) =] wfEz & (Marasiu Curcuit Tred)

N FRGTE & (Urper Mustang Trek)

3) SIETE IRH ¢F (Langtang Valley Trek)

1) F=RF WRT 4 (Annspuma Crrcuit Trek)

(\)2-4-1.3 \B)&-2-13 (0)1-2-32 (D) 31x:
-‘.‘:raz‘ts&uwégamr&amﬁmﬁmaﬁaﬁtﬁﬁ&mw&nwu}cf
Upto which level has the Constitution of Negal provided every citizen the nght 10 get compaan
free adecation from the state?

(A ¥ i @8 (Higher Educabion Lewel) (B) PR @€ (Sevvadary Leveld
(C) U TF (Base Level) (D) wfi 7@ (All of the above!

T L TR St fReream | el ud e oes

Match between the inventor and invention. Then select the cormect opiva

TSR (Inventos) v ( Iavenoog)

2 Peter Healein 1) e &7et & (Elavtne hignt buld)
b Aleaander Graham Bell 2) TR S (Computes mouse)

<) Thoenas Edison 3) W€ (Wakch)

&) Douglac Enpelban 4) TSR (Telepheos)

(A)a=$, b1, -3 42 (B)a:3, b4 ¢!, d2 (0 a3, b2 ¢4, ¢ {(D)a4. b2 c-

wee L LR 11 e S feend ad s e
Maching Group | and Group (1, choose the carrect answer.

@5F (Group) | HR (Group) 1l

1) Szuggle for exisience I. Joka Dalton

b) Buoyancy Theory L Charles Darwin

¢) Theory of Relativity 3. Alten Einstein

¢) Aoz Theory 4. Archimedes

(A) -2 b2, c-3,d-1 (B)a-3,b1,¢c-2,d4 (C)a-1,b-2,c4.d-3 (D)a<t, b3, ¢!
AcHH1 50 F0E WIW SIS ar [N e S

Amaong the following, which gas 1s the main cause of depletion of ozone layer?

(A) Sulphur dioxide (1)) Chlorofivorocarbons (C) Methane (D) Carben &avv
e i dgEmend §A Fevera g

Whuch altermative completes the number series below?

24,8,27, 16,30, 32,33, ?

(A) M (B) 36 ()42 (D) &
T5TaE T (1) 31 e SUw R wAI )

awse & suitable alternative in the place of question mark (?)

% 110

‘A () 136 (C) 143 (D) 148
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Find the odid number fiom the following altematives.
(A)272 (1) 210 (C) 240 (D) ¥
aR vzt 0 1 WERnY e 2.7 Al 1 ) iz 4 iz A e L g3
IMthe weight of 9 boxes of chocolates is 2.7 kg, the weight of 4 boxes of chacnlates 1s .
(AYO9 KR (1) 1.2 kg (C)V.S5kg (D) 18 ky

. et Rega) M) walew (7) aud i e wiverm md?

Which number replaces the question mark (7) of the matrix given below?
Se |11 |30|97
47|11 |28 |86
1911227178
M7 (12)7
(A)48 (B) 53 (C) 57 (D) 62
feaval waa wm 10 Rvm w= o s | P 3t @ 12 e woe or e ) @R frdm v R et
373 & il v SR R v e e S R v

Mitesh can complete a work in 10 days. Ritesh can complete the same work in 12 days. I Hitesh and Rite
work in altemmately for 3/3 days, in how many days Ritesh can alone complete the rest of the work?

(A) 4.5 days (13) 5.4 days (C) 63 days (D) Nune of the abor
4 tETeE 5:8 T IFUTEON T | IR TAFAIE 4 U =Y IR 1:2 TR WA T AT G SISO |
Two numbers are in the ratio of 5:8. While subtracting 4 from cach that rmtio becomes 1:2, find the sma
number.

(A)2 )4 (€10 (D) le

A, B1C uweEn F=arat fingra) i aitea wifis et w2185 U 1 312 A UB QB 3w ud ®. 168
VT C A g ) e w0 wm st

Average monthly expenses of A, B and C houses for child education 1s Rs. 218S. If the average exper
of A and B houses is Rs. 1650, how much amount house C spends for the child education?

(A) Rs. 3255 (B) Rs. 3350 (C) Rs. 475 (D) Rs. 3570

elanea iaat AT Al whee 7 ofged =l 0 R
Wha was the first person 1o experiment scientifically about the greenhouse effects?
(A) John Tyndall (B) Eunice Newton Foole (C) Both (A) und (1)) (D) Jases Hansen

swetien iRt wurea: s fReeeE agd mim fenageng i

Arrange the districts having negative growth rate af population in ascending onder.
(A) WM, WTE, \flil[[!, wW12rs (Ramechhap, Manang, Bhogpur, Khotang)

(1) UGV, HIeTe, 318, Mt (Ramechihap, Khotang, Manang, Bhajpur)

(8] s, \ﬁi’i(, Ui, WATE (Khotang, Bhoypur, Ramechhap, Manang)

(D) Wh21G, Ui, H4T6, MTL (K hotang, Ramechhap, Manang, Bhojpur)

37
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Which s the Gt hertage of Nepal histed 1 UNESCO's World Heatape Lis?
(A e wlia Pgesa (Sagarmatha National Pfaik)
() Rravaea ulga Rt (Chitwan National Park)
() Qﬁ'd-ﬂ, RUEIE] 'ﬂ\l‘lﬂlﬂ SR IWE (Lumbini, the Nith place of Lond Buddha)
(D) NN (Tilaumkot)

e 1 e 2 At v Rend wd 3w orgeng)

Matching between Qroup 1 and Group 2, select the correct answer,

e (Group) | Wy (Group) 2

RGN (PojectThoprun) waf\m 2 (Related Country)

) Millennium Challenge Corporation (MCC) 1) United Kingdom (UK)

b Hhigh Impact Community Development Projeet (HICDP)  2) United States of America (USA)

) Nelt and Road Initiative (BR1) J) India

d) Depaitment for Intemational Development (DID) 1) China

(A)a-2,b-3, c-1,d4  (B)a-3, b, c-2,d-1 (C) a-2,b-3, ¢4, d-| (D) a4,b-2,¢c-1,d-3

The MCA-Nepal Board af Directors @ MCC Nepal Compact Program ) i< S (Entry nto Force-
EIF) w1 v v Rl wRa 7w w

When has the MCA-Nepal Board of Directors decided to enter the implementation stage EIF of the MCC
Nepal Compact Progmm?

(A) | September 2023 (B) 30 August 2023 (C) 5 September 2023 (D) 20 August 2023
3, 2079 m smirfa 9ol g dergR wivaifam wihw= N ¥ vz werm o § fwn
Amang the following which won the most of the gold medals in the competition of 9* National Game
held in BS 20792

(A) TIVE+1 321 (Gandaki Province) (B) FRA w2 (Koshi Province)

(C) = w3 (Lumbini Provinee) (D) Tt W& (Bagmati Provinee)
ula gt v, 2078 AR Fer wraftan e Fa winm F S s R o

Acconding to the Nationn] Agricultural Census, 2078, how much percentage of total numbers of
kouscholds are engaged in agriculture sector?

(A) 52 (B) 62 (C)72 (D) 82

313 = frzvnfirm 1d 14 72 fEares Ry anieo iw g7 e A e e @ oy
Climbing all 14 mountains ubove of 8000 meters, which Nepali citizen has set the World Record?
(A) Nirmal PPurja (B) Kamirita Skerpa (C) Babuchiring Sherpa (D) Tenjen Sberpe
wr et v Tt Rufy @it (ic. Yellow Book), 2080 il 3n [, 207879 M= AR
widafiw HRIAQ TR T T AT AT ) 7

According to Review of Public Enterprises Annual Status (i.c. Yellow Boak), 2080, which of the
following public enterprise has earmed the highest net profit in FY 2078/79?

(A) W™ l'aqﬂ wfiraer (Nepal Electricity Authority)

(1) 3T A A (Nepal Doorsanchar Company )

(€) ufqu wfersa 4% (Rastriya Banijya Bank)

(D) 4PN @I w1 (Citizen Investment Trust)
F=N
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Among the following statements which is true?
(A) "6 e HIr e R s rand g
(Bhaktara) Acharya is the singer of the song "Sapana Bhulni Sara®)
(B) WRa="Fm =t RIS Qe %1 | (Pushkar Shamsher has written the story “Paribanda®)
(C) w31 T faa Qadn wafaw R (Sangina Vaidya is related with Football game)
(D) F3-393 T8 W) Ve g Tefla WEATanT i) S0 e waar i R |

(Ncpal had voted in favour of Russia on the United Nations Resolution regarding Russia-Ukraine
war.)

2. T fowe feml v (7) o it oo
Which altemative figure will replace the question mark (?)?

t +|lu oll+ c|l¢ I~ 2 L_vr_'-]rl\ﬂv-
9

T wlla Tll=- 4|l .ql|+ ¢ o M| >[la u |[o J

A) (|B)  (C) o

30. faEEw 11N 99 @& wwmu o) REes v T R el e e s v ealee (7) @ adn IS
fawen fax dsE )

There is a relationship between figures | and 11. To establish the similar relationship between (igures [1] and
1V, sclect a suitable alterative figure in place of question mark (?).

QKO |0 @ | &)\ D)

1 1l m v (A) (B) (&) (D)
31. S A g emEeny )
Find an odd onc with others.

¥* Wi|® % [ﬁ .}L‘. *

S ofle W x| & &
(A) ®) (© (D)

32. o famew wrgata 0 R (X) @ wrdl ofa gas shfafan go

Choose an alternative which exactly resembles the water image of figure (X).

¥ v ¥ [(%a) [ %]
t e e l»el l,ol R
* A EIRICA/AICS RO

Figure (X) (A) @B (© (D
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Whal is the maximum number of trinngles in the given figwe?

(A) 14 (B) 13 (C) 12 (n
aet Reem Wl yataes (7) i 37 Fevew R wRieanm wd?

Which altemative figure replaces to the question mark (?) of the malrix given below?

(A @) (€ (D)
WG WU el WATS BT |
Choose the corrcet statement relating to Earth,
i) iy ST I EAT 30 kins I AT alE TS |
(The earth revolves the Sun on its orbit at a speed of 30 km/s)
ii) JedtY SunTes e = i O € | (Among the satellites of Earth the moon is also one)
(A) i €1, iii TSI (i carrect, ii wrong) (B) i 7TeT, ii |l (i wrong, i correct)
(C)i Vi G W (i and i both correct) (D) Tii 3 7o (i and ii both wrong)
e e il HErRei Wi wr yuRafia 2 A e
Among the following which is the smallest landlocked country of Africa continemt?
(A) Guinea (D) Togo (C) Djibouti (D) Eswatim
Firnu wlve s faaren e g |
Among the following sclect the best alternative.
i) Captain Cook & S ferar yirm emrgnt f4g | (Captain Cook had discovered Austrulia)
ii) Mount Acanguwa 2férer 3pIRam werarm v | (Mount Acanguwa lies in South America continent}
(A) i Wi Wl (only § correct) (B) ii Wi el (only ii corvect)
(€) i Tii ZA wdl (i and ii both correct) (D) § ii R 71ed (i and ii both wrong)
el 19 AUIe) T 1) TEPIG Jaaare A e e
Amony the following which river of Nepal is nol originated from Mahabharat Range?
(A) T=0T§ (Kankni) (13) aT$ (Babai) (C) el (Kamala) (D) TvrEIm (Bangans
arerd 3= divaivr 4 et g Wl d
What is the totsl urea of Annapums Conservation Area of Nepal?
(A) 7629 sq kan (13) 6729 sq. kim (€) 2179 sq, ki (D) 2035 5q. kim
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Rl 2078 ) HAEN g naad aud & il ufim squen wwe
As per the census of BS 2078, how much percentage of population live in terai region of Nepal?
(A)40.31% (B3) 56.08% (C) $3.61% (D) 50.27%
aev g w2 2 fime Rrivaris e frend i sicehz ngeng|

Matching between the following hydropower company and their characteristics, choose the correct
answer,

a) T wngiaran Rafires 1) arbref Aifaa wn aream ffif
(Tanahu Hydropower Limited) . (Builtin the assistance of the then Soviet Union)
b) Revfh st farega smaemn 2) G I AT
(Khimti Hydropower Project) (A Reservoir Project)
c) fafer srwifere il fix, 3) NEA %1 ufeei Faferm woeef)
(Chilime Hydropower Company Lid.) (The lirst subsidiary company of NEA)
d) W) TR R 4) Furerm f=ft vt gl wefiga s
(Panauti Hydropower Station) (The first private scctor’s Hydropower Project in Nepal)
(A)a-3,b4,c-2,d-1  (D)a-2, b, c-3,d- (C) a-3, b-1, ¢4, d-2 (D) a-2, b4, ¢-1,d-3

T | Tuegs 11 ra Sier fremsgong | wwafis it sav e |

Match between Group | and Group I1. Then, select the correct answer.

e (Group) | RN (Characteristics) HYE (Group) 11 #3141 (Revolution)
a) twaa fadm il 1. 3itfeh) Tmeaar wom
(Revalution without bloodshed) (American War of Independence)
b) 3T #wf1 (October revolution) 2. wam Q9 & (First World War)
c) T VW) TAT (Establishment of League of Nations) 3. 3tdifis: # (Industrial Revolation)
d) 1= A arfl (Boston tea panty) 4. =5 w11 (Russian Revolution)
(A) a-3, b4, ¢c-2,d-] (13) a-2, h-3, ¢c-1, 114 (C)a-l,b-2, ¢c-1,d-3 (D) a4, b-1,¢-3,d-2

Tz TR 3 e s e fudr

In which year was the Tri-Chandra College established?

(A) DS 1967 (B) BS 1971 (C) BS 1975 (D) s 1977
wiE ) Twe 1) 3a e frend o fase Tagdng )

Matching Group | and Group 11, select u correct altemative.

HYE (Group) | M (Ruler) HHe (Group) 1 wsafan fama (Related subject)
a) 3Tl (Amshuverma) | TSI equIET haTe Inmgmiedd whua
(Royal Palace shifted from Hanumandhoka to Naravanhui)
b) WA (Manadeva) 2 W2t A AE (Begining of Bhioto Jatia)
c)yeh dn faam (Prithvi Dir Bikram) 3. T <@l (Gupta Saunbat)
d) qGz2d (Narendradeva) A WENLE R (Manank Mudia)
(A) a4, b-3,¢c-2,d-1 (D) w2, h-3, ), d4 1C)aed, b=t c-1, 42 (DY -2, bad ol

fRquaT STATEY I U e
Camplete the given letter scries.
,1.P, Y, CE DL FD,M
A;;)DTC (W) IF WA (I Py
AF
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Logically select the best altemative.
Layers - Relays i Acres = 7
(A) Least (1) Scare (C) Tules (D) Tears
vl ) wene § Aeltfed ok Rgs @y 10 Rrenfe aliomh Rge vaa aEms (6 s Freitfier
fets 1w v 1R 3 g Ranm vy
Ramesh walks § Milometer Enstward (rom his house. Then, walks 10 Kilometer Southward and turns leh
and again walks S kilometer. In which dircction is hie now from his house?
(A) T (East) () <Ryl (South-East)  (C) 311 (South) (D) it (North-East)
% Rl 2)em BROTHER' 77§ 'RFIUPSB' R0 | T 1) 'MONSTER' it 3k e warl) wifia=z7
In a certain code '"BROTHER' is written as 'RFIUPSB', Similarly, how is 'MONSTER' written in that
code?
(A) OAUTMPM (B) RFUTMPM (C) OFUTMPB (D) RFUTMSB
T T 39 fRunfined W e peE v 73w s o | Jpm ae sifan frar e o
| 73 TR O S YA TR A T S i Y
Among 39 students in a class, Ramesh's position is ahead of Shubham by 7* position. Shubham is in 17*
position il counted from the end point, what is the position of Ramesh counted from the beginning?

(A)17° (8) 16* (C) 15 (D) 14"
Sfra famea wele it R AT ey |
Selecting an appropriate alternative complete the given matrix.
7B | 5C | 6B
3C | 9B | 19A
ISA|17A | ?
(A)10C (B) 13C (C) 16C (D) 19C
w«The Endwn
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